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Q1.  Define the positive and normative Economics.
Q2. What is a economic problem? Why does it arise?
Q3. A shift from steam engines to disel and electric engines has increased carrying capacity of the Indian Railway both
for passenger traffic and teh goods traffic. How would you reflect this change using PPC.
Q4. Explain the control problem.
Qs. Explain the features of PPC curve.
Q6. Draw PPC for an economy , if production possibilities are as under. Also find marginal opportunity lost.
Shirts ( Millions) 0 1 2 3 4 5
COmputer (thousand | 15 14 12 9 5 0
Q7. By spending his entire income on two goods X and Y a consumer find that:
Marginal Utility of X S Marginal Utility of Y
Price of X Priceof Y
Explain how will the consumer react.
Q8. What is the relation between total utility and marginal utility?
Qo. Explain the classification of consumption goods.
Q10. Give reason, classify the following into inermediate and final goods.
i) Machine purchased by a dealer
i) A car purchased by a house hold.
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